Recall: The solutions to an equation with 2 variables are ordered pairs.

ex1] List all solutions to the following equation:

X+y=2

This s i«v\()ossi\ole. Theet ocg on in€inite numbie ot sbtions’



Since itis impossihie to list all the solutions to the equation, we can try
something eise. We will create a table of some of the solutions.

XK [V
O | 4
A | O
|
5 | -
| 5
J | -5

Equation: X+Yy=2



ex2) Graph: X +Yy=2
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A | O
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2> | -l
- 5
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We know that there are an infinite number of ordered pairs that are
solutions to the equation. These ordered pairs form a straight line.

X+y=2

Since graphing ALL of the
solutions to this equation
resuits in a straight line that
_1lp £ & do  neverends, the equationis
called a linear equation.




ex3d) Graph the linear equation helow hy creating a table.

V=X-3
X ¥y Choose x-volves
0, -5 Fi@.ue out the
- coc(espondin
‘5 ;: y?:/(o\lvgof‘:( eo?,lr\ x 1o
-5 1 -9 /\Mkmx’-’%/
_ 02 _ 6 'y \l = xX-5

y:-2-3:=5




exd) Graph the linear equation helow by creating a tahle.

y=2x-4

_ "l ‘/w con chodse any

~-volves you wont,

X

0

5 =4 TF you choose
~5

o

_ G ~-valves that ovg T
rwlFeles o€ the
0 denominatoc, You can
end yp without Lractions

b | -3




How many points are necessary in order to he
sure that we have graphed the correct line?

Wé w"\\ ()]\ﬂL 3 eo'm’rs JID C(eajfé the f)mgh UG 0 Qqumﬁo/}

Why that many?

We. can denw a stroiaht ine between ony TWO poiats. TH we

plot 5 poiats aad +he~/ all lie 0n o straipht e, then we can be
suce Hhat goc ling s Correct,
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TO GRAPH LINEAR EQUATIONS BY THE TABLE METHOD:
1. Solve the equation fory.

2. Create atable of points hy choosing x-values and then
finding the corresponding y-values. You need 3 points.

4. Using a straightedge, connect the points to make a line.




exo) Graph the linear equation helow hy creating a table.

T+ is mwch easiec o exeate a table
4“ + 3)( = 12 when the eolumh'of\ s SOLVED Fok Y,

-3X  =3X ‘\ 44
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- 6 Swmact x chaices: i \\\
(D Choose zero
Choose the denomiactag. L

(DCharse the oppooite & the denominalfo.



ex6) Graph the linear equation helow hy creating a table.

Sthe focy! 2y -DN=2

+5x  +5x —+
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ex7] Graph the linear equation helow hy creating a table.

\

\

y=4

No matec which

~-volves we choose,

Y is ALWAYS 4.

The ome‘\ o
'E constont

(5 olways o
WoRl zonTAL LINE.
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